VIGVERSA)

---- YOU CAN CHECK (VIA EXAMPLE) THAT OUR DIFFERENTIATION RULES (CHAIN, PRODUCT, QUOTIENT) DO NOT TRANSLATE NICELY TO INTEGRATION. IN PARTICULAR, WE DONT HAVE A CHAIN OR QUOTIENT RULE FOR INTEGRATION, AND THE ANALOS OF THE PRODUCT RULE IS CALLED INTEGRATION BY PARTS. WE WON'T TALK ABOUT THIS BECAUSE IT CAN BECOME REALLY COMPLICATED.

So. AT THE MOMENT, WE HAVE TWO TOOLS FOR INTEGRATION THE POWER RULE & THE PROPERTIES ABOVE WE ALGO KNOW THE FOLLOWING .

FACT $\int \frac{1}{x} dx = \ln|x| + c$ SINCE d/dx (ln(x)) = 1/x ... but if x<0, ln(x) ISNT DEFINED. THEN.

FACT $\int e^{x} dx = e^{x} + c$ BECAUSE d/dx(ex+C)=ex

 $d/dx(ln(-x)) = \frac{-1}{-x} = 1/x$

EX. FIND
$$\int (\chi_{+1})^2 d\chi$$

SO ... WE'LL HAVE TO SIMPLIFY THIS.

=
$$(\chi_{+1})^{z} = (\chi_{+1})(\chi_{+1}) = \chi^{2} + \lambda \chi_{+1}$$

SO WE'LL COMPUTE

. ?

 $\int \chi^2 + 2\chi + | d\chi$

$$\int x^{2} + 2x + i \, dx$$

$$= \int x^{2} \, dx + 2 \int x \, dx + \int i \, dx$$

$$= \int x^{3} \, dx^{3} + 2 \int x \, dx + \int i \, dx$$

$$= \frac{i}{3} \, x^{3} + x^{2} + x^{2} + x$$

$$= \frac{i}{3} \, x^{3} + x^{2} + x^{2} + x$$

$$\int \partial \chi \, d\chi = \partial \cdot \left(\frac{1}{2}\right) \chi^2 + \mathcal{L} = \chi^2 + \mathcal{L}$$
ANTIOGRIV

SO. FUNDAMENTAL THM OF CALCULUS SAYS:

$$\int_{1}^{3} 2x \, dx = (3^{2}+c) - (1^{2}+c) = (9+c) - (1+c) = 8+c-c = 8$$

$$\underbrace{Ex.}_{h_{1}} \int_{1}^{4} \frac{1}{\sqrt{x}} dx = \int_{1}^{4} x^{-1/2} dx \qquad \prod_{h=1}^{h=-\frac{1}{2}+\frac{2}{2}-\frac{1}{2}} \int x^{-1/2} dx = \lambda x^{1/2} + c. \quad Then...$$

$$\int_{1}^{4} x^{-1/2} dx = (\lambda (4)^{1/2} + c) - (\lambda (1)^{1/2} + c)$$

EX FIND SOME NONCONSTANT FUNCTION FLX) AND NUMBERS Q.6 SO THAT

AN EXAMPLE OF THIS:

$$\int_{a}^{b} f(x) dx \neq 0$$
 \longrightarrow Geometrically, what's Going on Here?
 $\int_{a}^{b} f(x) dx \neq 0$ \longrightarrow

Recall: Fund This of Calculus LET F'(x) = f(x). THEN $\int_{a}^{b} f(x) dx = F(b) - F(a)$

$$\int_{1}^{9} e^{x} dx = e^{x} \Big|_{1}^{2} = e^{2} - e^{1}$$

$$\int_{1}^{3} e^{x} dx = e^{x} \Big|_{1}^{2} = e^{2} - e^{1}$$

$$\int_{1}^{3} e^{x} dx = e^{x} \Big|_{1}^{2} = e^{3} - e^{2}$$

$$\int_{1}^{3} e^{x} dx = e^{x} \Big|_{1}^{2} = e^{3} - e^{2}$$

-2

-1

•
$$\int_{A}^{3} e^{x} dy = e^{x} \int_{a}^{3} = e^{x}$$

•
$$\int_{0}^{3} e^{x} dx =$$



•
$$\int_0^a x^3 + x \, dx$$

$$\int_a^3 x^3 + x \, dx$$

•
$$\int_{-4}^{3} \chi^{3} + \chi d\chi$$





1

2

3

- **X**